Addition

Find the sum of the following.

1.40+4+7=_____ 11.71+12+6=___
2.21+10+5=___ 12.66+5+4=____
3.56+8+3=____ 13.27+10+3=____
4.57+10+5=___ 14.57+8+6=___
5.60+8+7=____ 15.36+3+9=__

6.38+12+8=_  16.62+11+5=

7.45+6+3= 17.20+12+9=___

8.50+12+4 = _18.40+9+8=__
9.63+9+5H= 19. Bb+12+7=__

1039+3+8=___ 20.23+10+3=___
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Answer Sheet i
Addition
RN

Find the sum of the following.

1.40+4+7=_51 11.71+12+6=_89
2.21+10+5=36_ 12.66+5+4=_75_
3.56+8+3=_67 13.27+10+3=_40_
4.57+10+5=72  14.57+8+6=_71

5.60+8+7=_75 15 36+3+9= 48

6.38+12+8=38 16 62+11+5= 78

7.45+6+3=_54 17.20+12+9= 41
8.50+12+4 = 66 18.40+9+8= 57
9.63+9+5=_77 19 . 55+12+7=74_

1039+3+8=_50  20.23+10+3=36_
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